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M. o (BH) - HSAY - BAS il HDS2
02 3294l 9,400 8,400 1,000
OA & &l S XYl 9,400
— DEEAI =4 640,000& *2CH x53] 6,400
— QoM =M 500, 000& *63] 3,000
AHCOODE 29 25,000 15,000 10,000
201 L2 H| 10,000 10,000 0
01 AFR2t2l bl 10,000 10,000 0
Ogt2H| 5,000
—AEHCOIODE 2123 M= 2,000,000& x13] 2,000
— &AL ANRESE P 250,000& = 12& 3,000
o3&l 5,000,000& 5,000
202 04| 15,000 5,000 10,000
01 2LHOHI 5,000 5,000 0
OAHCOIOE HWXIOHY 5,000,000 5,000
04 =Xl st Yl 10,000 0 10,000
OAHCOIOE 228 ol 10,000,000 10,000
1008 && JIEAY 669,600 0 669,600
201 Bt A H| 19,600 0 19,600
01 AFR2 2t 2l Yl 19,600 0 19,600
Oget=gH| 5,600
—MEES 7Y 200,000& *123] 2,400
—daES 7Y 800,000& 43| 3,200
oz2g=+Y 14,000
— 100 & JIEAMY =XAR/G ALY
70,0003 50H 43| 14,000
207 O 4| 250,000 0 250,000
01 A2 &<l 250,000 0 250,000
Ot 824 100,000, 000& 100,000
OtraMEHel H& 150,000,000 150,000
401 Al HIL 200 400,000 0 400,000
01 A& bl 396,940 0 396,940
OJIE M 297,840,000 297,840
Ot & MA 99, 100,000& 99,100
03 Al& 201 Y] 3,060 0 3,060
OJIE M 300,000,000 *0.72/100 2,160
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dEE A 285,924 278,724 7,200
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-4 g2 440,000& *52] 2,200
— N2 (L) 7= 2,195,000& 4= | 8,780
—A2(NEX) 2=
12,000 * 100 At+4 2+ 12& 5,760
—ZHEE AXQISEH(5+7)
1,085,000& 4= 2| 4,340
—ZHEE AXIQIEH(8%10)
5,500 100 =122 6,600
—ZEEE MEQSH(20%24)
33,000& «10& 123! 3,960
— 23 SIEE A&QF 500,000 »12& 6,000
— =& EE2E AXAX ¥
100,000& =103l 1,000
— =M ¥ ZZFEZ 21 30,000,000& *3=] 90,000
—MEZ3D(HFEED) 10,000,000 *8IH A 80,000
—HOISLSAM ZEEE 4,500,000& »23| 9,000
— 2SN SSU=HEEN 2
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Oget=gH| 55,200
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203 R F & 2,000 2,000
03 AIZH =X 25 X H| 2,000 2,000
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401 AlEHIZL 2 0HY| 15,000 15,000
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Oo=2d JIE2E & 29 15,000,000& 15,000
405 XHA&HF S HI 69,000 6,000
01 XA E B F S| 69,000 6,000
OJtdlet ¢ 9,000,000& 9,000
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60,000,000& 60,000
St ZAALS 24 92,900 59,900
22X 2| shak 72,640 39,640
201 gBt2Ad| 30,000 0
01 AP 22| H| 30,000 0
Ogbt4=24| 29,000
—HETZHI 2 20,000,000& 13| 20,000
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3,000& *3,0008 9,000
osd4¢ 1,000
—HE N LA 500,000 *23] 1,000
202 o4 | 8,640 8,640
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12 JIEtE A2 30,000 30,000 0
OB 1 2aza 30,000,000& 30,000
303 ZA=2 3,000 0 3,000
01 a2 3,000 0 3,000
OFBLLSLRJALUEN &9 3,000, 000& 3,000
NHZ2ZA JIs 23t 20,260 20,260 0
201 LBt 14,260 14,260 0
01 AP 22| H| 14,260 14,260 0
Ogbt424| 9,220
— ZFAFXRIE AFIE &2 10,000& 15082 %13 1,500
— 2ZALE=H AIRE2E Y 100, 000 =83l 800
—ARI|2 S ZAIEY| 1,000,000& 53] 5,000
—HANADE 2 120,000& *63] 720
—SHNMUSE 28N Z2HB 448
600,000 23| 1,200
ogds4 840
— TR SoIRIVE ALY 840,0008 840
= 2| 4,200,000 4. 200
202 044l 5,000 5,000 0
01 2L Y| 5,000 5,000 0
OXNHMZAI 2 =84 5,000,000& 5,000
203 R F & 1,000 1,000 0
03 AIZH =& 25X H| 1,000 1,000 0
OXNH SR L 2ZADY AR
1,000,000& 1,000
SEH2el &L 2AE MSAIAH = 293,376 297,731 N4 ,355
o= 4,819
= 288,557
I ZEHEAM 54,077 57,490 N 3,413
101 e1214| 5,063 6,575 A 1,512
04 JIZtHI22NEES 5,063 6,575 N 1,512
OAME M SHXEA 5,063
— X AF2tel X+ 2,959,000& 2,959
— XA DEESE L AHEEE
2,957,000 «10/100 296
— ZAKIE 22l Xt
44 380 #2722 x1H «75/100 899
— AAKR 22X DEEE 2 MHEE S
899,000¥ x10/100 90
—daYUE Y AR
44 380 12 %242 x75/100 799
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201 L2 | 70,000 70,000 0
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SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Ogt+2H| 3,100
—E82 2EF M 500& *4,0000H 2,000
— 2AESHA S HE 55,000& *200H 1,100
Or=1=1:l 2,800,000& 2,800
o2g=¢ 840
— 3| YOISUHSIIAE &2l g
70,000& =12 840
Oogxts 800,000& *2CH *13] 1,600
202 (4] 3,000 2,000 1,000
01 2L Y] 3,000 2,000 1,000
Os|aots A= 3,000,000& 3,000
301 dEtE A= 4,000 4,000 0
10 HALAIHI B AS 4,000 4,000 0
OXNEXA I3 s 4,000,000 4,000
307 QI2t0| ™ 34,000 34,000 0]
02 A2AFNMNE X 34,000 34,000 0
Oslxot2 s=H X 34,000,000& 34,000
402 212t X201 A 772,000 772,000 0
01 It x 772,000 772,000 0
Ostd "ENS(BIMA) 500,000,000 500,000
OAJIZE2 IS (17HA) 170,000, 000& 170,000
OQOtELIE OIS (51 ) 102,000,000 102,000
oroICIH &8 &9 35,000 15,000 20,000
207 A IR ] 20,000 0 20,000
02 & AHJHEHH] 20,000 0 20,000
OololtI A8 Tz gt
20,000,000 20,000
303 A2 15,000 15,000 0
01 ZAZ 15,000 15,000 0
ORa=AI# Hot AlAZ 15,000,000& 15,000
At MHSHL ALY 11,001,300 7,453,200 3,548,100
EL) 7,659,000
& 898,000
= 2,444,300
201 LEt2HY| 17,400 6,200 11,200
Ry 12,040
iy 5,360
01 AFR2t2ldl 17,400 6,200 11,200
OGN ALNEE S H A 5,700
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2 1,007,934
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— &MY EESE A 500& *4,0000H 2,000
202 O4dl 3,912 1,480 2,432
01 = LHA YI 3,912 1,480 2,432
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203 R =&l 1,000 1,000 0
03 A Z=XH R =AY 1,000 1,000 0
OdsAY HE2FE 1,000,000 1,000
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01 A& HI 178,164 0 178,164
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ogzu=zz FZhel M 19,784,000& 19,784
OogZu=zZ tEXE &I 39,568,000 39,568
Otsstnad JIEtAIE =4 59,460,000 59,460
O2t=AHOE HAHEA 29,676,000 29,676
03 Al =20 HI 1,836 0 1,836
OBALZL 8FD 22 HA
30,000,000% *1.08/100 324
ogzu=zz dAcel Hod
20,000, 000& *1.08/100 216
ogZu=zd tEX®E 4X
40,000,000 *1.08/100 432
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306 23 5,000 5,000 0
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308 XXM S0 A 13,000 5,000 8,000




S HSIEEIPN
o DAL AIM 08 Y X
Sl XK 2o

bl
[0

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
05 HXSHHMARE S 13,000 5,000 8,000
OJiorZstd N9 s 2=
13,000, 000& 13,000
SANMYE OFERE ZZ2RE 80,000 0 80,000
401 Al HIZ 201 Y] 80,000 0 80,000
01 A& HI 79,280 0 79,280
OZANMY OlEZE ¥ =S&H =4
79,280,000 79,280
03 A& S THHI 720 0 720
OZAMM OER2E L ZE&EH X4
80,000, 000%& *0.90/100 720
H=E0IES HWES AIAH 24 298,400 0 298,400
201 LB-2dH| 149,200 0 149,200
01 At 2t 2l 149,200 0 149,200
OUHEXNEZE 100,000& *43| x3730 2 149,200
301 L2 A S 149,200 0 149,200
10 #ALAHIE &3 149,200 0 149,200
Of=0lg MEY H& MY Y
100, 000& *43| x3730H 2 149,200
SE6RAY S MEZME 24M5) HE-Z 29 38,440 0 38,440
201 LBt2E| 37,600 0 37,600
01 At 22l 37,600 0 37,600
OUHEXESE 36,000,000 36,000
ogxtz 800,000 »23l 1,600
301 gEtE A= 840 0 840
10 ALAHI 2 A3 840 0 840
OME SRR HEEA MH LA
840,000 840
S8 ME=2Y 545,528 862,650 A317,122
S HE2H 545,528 862,650 A317,122
l2sg 233Hl X 429,000 429,000 0
201 Let24d] 171,000 171,000 0
01 At 2teltl 135,000 135,000 0
Ogt==&H| 100,000, 000& 100,000
o=t 20,000,000 20,000
Ogxz 15,000, 000& 15,000
02 =224l 36,000 36,000 0
OAEZHI S X 36,000, 000& 36,000
202 odl 200,000 200,000 0
01 = LH o4 1l 110,000 110,000 0
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Il 2 AA
S8H HE2Y
Sos HySY CERED
SN FH-SA(EN) - MBAY - BES 0l &k o4 il HlnE2
02 2324l 18,000 18,000 0
OA& & Hl S Xl 18,000, 000& 18,000
202 04l 8,680 8,680 0
01 = LH 4 HI 8,680 8,680 0
omMzges Mz =% 5,680,000 5,680
O=&ZH&E:E g =38 3,000,000& 3,000
203 YR =& 14,000 14,000 0
03 Al =AY 2= 14,000 14,000 0
OHd ME2YE A =& 4,000,000 4,000
OYEMH &= =& 5,000,000& 5,000
ON=Ma &5 =& 5,000,000 5,000
303 Z& = 10,000 20,000 A 10,000
01 243 10,000 20,000 A 10,000
@) Fapaini F=; 10,000, 000& 10,000
403 MtXSHHES A= 0l & 18,238 16,000 2,238
02 BJ|2SO0ll CH SHCH & AF HI 18,238 16,000 2,238
OXgMB2AAE (e-5X) RANES
18,238,000 * 14! 18,238
Ol &S LA 3 31,000 41,000 A 10,000
202 O4dl 4,000 4,000 0
01 = LH 4 bl 4,000 4,000 0
OWAMEE LHAS =& 4,000,000& 4,000
203 YR =2l 7,000 7,000 0
03 Al =T YR =& 7,000 7,000 0
OH=XNYHg 2= 4,000,000 4,000
OXgiHe gR=2 3,000,000 3,000
307 glz2+ol & 20,000 30,000 A 10,000
03 Ml HHNEEXZS 20,000 30,000 A 10,000
OAMIISHEES K 20,000,000 20,000
0l bl gl 7,099,919 5,591, 186 1,508,733
ol bl bl 7,099,919 5,591, 186 1,508,733
0l gl Bl 7,099,919 5,591, 186 1,508,733
801 GBI bl 7,099,919 5,591, 186 1,508,733
01 olldldl 7,099,919 5,591, 186 1,508,733
Ouulgl bl 7,099,919,000& 7,099,919
HAE2AZH (D22 AA) 35,140 34,030 1,110
Jl=Zdl 35,140 34,030 1,110
Jl=Z 35,140 34,030 1,110




2A: JIEZA
X ZH: SHXN L0424
(=R B

el JI=23Hl

201 13,240 730 510
01 13,240 730 510
13,240,0009 13,240
202 14,400 800 600
01 14,400 800 600
OSHSS (A, MOILL, 938 &84 S)
4,400,000% 14,400
203 PR = HI 7,500 500 0
01 JI22Y YR EAY| 3,300 300 0
OBIEENES 3,300, 0002 3,300
04 BARYARETY| 4,200 200 0
ORN2YLRE=TY| 4,200,0002 4,200
WS ES (22 AA) 507,855 250 998,605
CRE 507,855 250 998,605
N 507,855 250 998,605
311 507,855 250 A1,395
06 507,855 250 A1,395
Ol Xt & &
507,854,780& 507,855
601 1,000,000 0 1,000,000
06 JIEF= L4 Xt 1,000,000 0 1,000,000
A4
1,000,000,0002! 1,000,000




